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Seema is younger than Reema by 8 years. If 4 years back, their ages were in the ratio 1:2, then the
age (In years) of Seema after 6 years from now will be:
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The present average age of A, B and C 1s 60 years and that of B and C i1s 50 years. What i1s A's

present age?
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=IX years ago, the average age of A, B and C was 29 years. Eight years ago, the average age of A
and C was 27 years. What is the present age (in years) of B?
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The ratio of the present ages of Meera and Sheela 1s 9 : 5. After 8 years Sheela would reach the
present age of Meera. What 1s the present ages (in years) of Sheela?
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21 years ago, at the time of marmiage, the average age of a couple was 25 years. Now they have a
daughter of age 25 years. What is the average age of the family?
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The ages of Ramesh and his wife are 40 years and 36 years, respectively. If the average age of their
son and 2 daughters is 13 years, then what is the average age of the family?
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The ratio of the ages of A, B and C, 5 years ago, was 4: 5. 7. The sum of their present ages 1s 135
years. What will be the sum of the ages (in years) of B and C, 3 years from now?
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Five years ago, the average age of A, B and C was 20 years. Six years ago, the average age of B
and C was 9 years. What will be the age (in years) of A 3 years from now?
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The ages of two persons P and Q are in the ratio 5: 7. Eight years ago, the ratio of P and Q was 7: 13.
The present ages of P and Q. respectively, are:

ar eafeadl P 3 Q & 31 7 3ie]41d 5:7 §1 3716 a4 gel, P 31X Q 1 37=91d 7:13 21| P 3R Q &I

ICAT 3 HAA: -

©tsanaz 5 P & 2
: n years

2. 20 and 28 years b s ;L x

3. 21 and 15 years %@ <? + | <

4. 12 and 13 years
gﬂ'}"g — 7
| <

Y AE
([ CA+ 10U —ygn+ 5S¢

jgw:(/lg
w =~ 8



The average of the ages of a husband and his wife was 25 years at the time of their wedding. After 7
theyr have a 2-year old child. What is the average age of the family at present?
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The ratio of the present age of Mahesh and Ajay i1s 3 : 2 respectively. After 8 years, ratio of their age

will be 11: &. What will be the present age of Mahesh’s son If his age i1s half of the present age of
Ajay?

H 2l 31X 3101 Y AT 3T &1 9T AR 3 © 2 §1 8 HIel dlg, 3eiehl 3R] ol 3eIdTd 11:8 BN He2l
%EﬁﬁmﬁmHgmmﬁﬁﬁﬁmﬁmmmﬁwﬁﬁmmmgﬁHﬁﬁ?

B 16 yours %
515 yoar o T3 Zﬁ% W
. 8 LM xl_ *@
N+g 1)
LY\/PQ/ S

My pfy — 22N PEE
2N Dy o7

p——



The ratio of the ages of Arun and Anand is 3:1. After 5 years Arun age will be 5 more than two times
of Anand’s age. Then the present age of Arun is:
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The average age of husband, wife and their child 4 years ago was 26 years and that of wife and child
3 years ago was 22 years. What is the present age of the husband?
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The ratio of ages of A and B, 4 years ago, was 5 : 7. The ratio of their ages after 4 years from now will
be 7 - 9. What will be the ratio of ages of A and after 12 years from now?
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The average age of a husband and his wife was 23 years at the beginning of their marriage. After five

years, they have a@e—year old child" ¥ he average age of the family of three, when the child was
born:
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The average age of a husband andys wife was 23 years at the time of their mamage. After five years,
they have a one year old child. The average age of the family now is:
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